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EXERCISE 26
1. Whot froction of

Motch the circles

ffi

eoch circle is shoded?
to the correct onswers.

I



2. Whot froction of ecch fiqure is shoded?

(o) (b)

(c) (d)

3. Colour eoch figure to show the given froction.

(o)

3
5

(b)

Z
9

(c)

5

s

(d)

3
'10

\l\ \ \l\



EXERCISE 27
1. The bor is divided into

3 ports ore shoded.
4 equol ports.

(o) J of the bor is shoded.

i 'r 
out of the equol ports.

(b) 1 whole =
3

q uorters

/l

?
; OhO mOKe lWnole.

bqr is divided into 6 equol ports.
rts ore shoded.

quorters

2.

(c)

The
4po

(o) of the bor is shcded.

(b)

is 

- 

out of the equol ports.

whole = 

- 

sixths

sixths

!
6

!
6

1

A

6

I
6

ond-mokelwhole.
7

(c)



3. The bor is divided into 10 equol ports. 3 ports ore'shoded..

1

00@@@

(o) fr ofthe

3

bor is shoded.

out of the equol ports.

(DJ I Wnore =
3_

te nths

tenths
10

3

1O
(c) qnd moke 1 whole.

4. Write the missing froctions.

(o) l ond moke l whole.
5

(b) !ond- moke l whole.

5. Join eoch poir of froctions thot odd up to 1.

AAAArlA\t \q \t \t \' !t



l+1
33
2 third

1,1,1_
444
3 quorters

111
555
5 TITTNS

1,1,1,1_
6666
4 sixths

1 1,1,1,1_
88888
5 eig hths

1 l,',l ,1,1_
99999
5 ninths

EXERCISE 28
1. Complete the following.

(o)

(b)

(c)

(d)

(e)

9

(f)



Complete the following.

(o)

(b)

(c)

(d)

(e)

1

?

= _ quoruers =

= _ quoruers

1= fiffh< = _5

4 ....,
a = _ Ttrtns

1

3
;t)

- -:..+L- -JtALt tJ - ?

= sixths

1

7

8

elg ntns = 8

- ^i^ L+L-
- 

- 

srgr rLr rJ

1-

6
10

tenths =

= 

- 

tenths

10

twelfths =

= twelfths

'11

9
.,.'

(f)

10



EXERCISE 29
1. Ring the greoter froction.

11

1

a
1

(b)

1

;6
1
t)

2

E

Ring the smoller froction.

1
A

I
8

I
6

I
5

3

10



3. Ring the greotest froction.

111(ot" 12 7 10

666tal 7' 10' 9

4. Ring the smollest froction.

,,, 7 7 7

''' 8' 12' to

(b) 111
4' 10' 6

5551'n'8(d)

order, beginning with the smollest.

order. beginning with the greotest.

(b) 111
n'8'e

). Arronge rne numoer5 In

111tall -'-' 6' 7' 10

tnl -''' 4' 10 ' 8

6. Arronge the numbers in

111lo) 4' D' a

q<q
(b) ;, ;, ;

(c) 1. o. I10' 8

'1 11

5)2

333tat -5' 7' 4

r.) i, 1, ;

12



Write the

(c)

(b)

(c)

(d)

(e)

Ring

(o)

1 the g reoter froction.

(c)

EXERCISE 30

/::>
.fl 1fr
11,! ;VLg

/i 5n
Ui ;Y

h zA
'11 r, "f

Adl
(i, 10

d>J

i8fl
V roY

'1.

/::>)

d10#
/:>1

sfiIUJ Y

r:-a.q 7,qq

i 3fr
0i 1nYE#

{t>
nn
\1,1 Y

p,7r,
liI:V
E#

ifi\tl Y

Aqqq
/=>h

{rl q

(b)

't2
,';oo

35
8' 8

75
10, 10

43
;';ll



3. Ring the

(o) l,J

i"l to'

4. Ring the

)
(oJ ;,5

t'' 10'

5. Ring the

1(o) 
=,l

q

6. Ring the

1(o.l;'
/l

(c.) ;'

greoter

l
5

7

10

smoller

1

;5

4
10

froction.

froction.

greotest

42
;';ff,

a2
g', 9

froction.

smollest froction.

32
4'4
97
10' 10

rnr 4

q
(d) :,

6

1

3
6

(b)

(d)

13
1'j

1

=,5

5
;'tz

6
-,

5

5
;'b

8

n'

3.
5

11

n

24
;';oo

52
11' 11

910n'n

(b)

(d)

(b)

(d)

7. Arronge the numbers in order, beginning with the smollest.

q
(o) 6,

(b) ;,

10' 10

1-
tz

14



EXERCISE 31

1. Join eoch poir of equivolent froctions.

!\,
6\,

1
2

6
;

?
8

6

1O

10

n

?
3

5

10

9
5



z. use tne rrocfron Dors ro nelp you Trno rne mrssrng
numerororS.

1 L
2

1
3

1

5
1

1 L
A

1

4
1

4

L
5

1
5

1

5
1

5
1

5

'I
1
7

I
6

1 1
6

1

1

6
L
8

1

8
1

t5

I
IJ

1

6
t"
8

l_
8

1

10
1

1o

'I

o
1

10
1

10
1

10
1

'10
1

10
1

10
1

1o



EXERCISE 32
1. Write the missing numerotors ond denominotors.

(o)

(b)

(c)

2. Write the missing numerotors ond

x2

denominotors.

A "" 
--:\'

'' 5 -- ,,-z
x2

.1 ----- -1

5 \.- _-t



3. Ring 8 poirs of equivolent froctions'
One poir hos been done for you.

1

t
9

10

4
;

8

10

?
4

2

n
4
10

I
4

2
.o

1

-5
2
;5

3

8

2
;
a5

I
6

I
2

1

n ?
6

I
9

5
'10

5
;

2
; I

9

4
;

11

n I
5

6

10

q
7

5

1

18



EXERCISE 33
1. Write the equivolent froction for eoch of the following.

(o) (b)

10_
12

8_
10

6_
8

5_
10

4_

6_
9

/l

-=
2_
4

19



?
3

5

10

3

4'

t

5

8

10

3

4'
2

8'

4
1O

6

12

q

;'
a5

1

l

3
;5

8
;

6
.'o6

9
12

6

10

3

4'
2
;'5

1

.o
I
8

21

;,

6

8

8
;

3
;,

2
:,
5

1

,
5

'10

6
:'

2
;'5

2. Ring the equivolent froction for eoch of the given froctions.

(o)

(b)

(c)

(d)

(e)

(f)

(s)

20

(h)



EXERCISE

1. Write the

34
missing cnd

(b)

numerotors denominotors.

rol f T l!+l*H
,^1-.-l..' /af\
?ffi*tD

+3
9^

+2

6 '---- --,'z
+2

12 '-,,2:3

2. Write eoch froction in its simolest form.

(o) 5
{Dt (c)

1210

3. Colour the spoces in which the froction is in its
You will find the nome of Simon's doq.

simplest form.

ri'l;\)&>g

21



4. join eoch poir of equivolent froctions with q stroight line.
The line will poss through o letter.

Write the letters in order from Questions 1 to 9.
You will find the nome of o woter sport.

1 2 3 A 5 6 7 8 9

22



EXERCISE 35
1. Ring the greoter froction.

k\ !.'' 8
q

(cJ ;,
(e) Z.'' 10'

)(9J;'
J

2. Arronge the froctions order, beginning with the smollest.

(o)

(b)

rq i,

9
4

?
3

4
;)

5

n

(o) i, +
@1,:50

oi,#
(h) ;, :

_-...
(Chong. ,o common denominotors firstJ-\_-./\__/\-_-.\_/- 4 

"

tn

21s
;, ;, ;

53',|
8'4't

52
6'a

7

12

23
3' 4'

(d)

23



REVISION 5
1. Fill

(o)

(b)

(.)

(d)

in the blonks.

800 +

2000 +

978 -
3s60 -

+ 80 = 2380

= 908

= 3060

7+7+7+7+t=lOs
2499O90 =2409
so6oO10 =506
60070 4oo =6407
^^^- /---\ ^^^^ddvo ( ) aJUUU = dvb

2. Write +, -, x or * in eoch O.
(o)

(b)

(d)

3. Aihui worked in o foctory for 9 doys.
She wos poid $45 eoch doy.
How much did she eorn oltoqether?

2+



4. Lily weighs 29 kg.
Her fother is 3 times os heovy os she.
How much heovier is Lily's fother thon Lily?

5. Mr Lin bought 2500 tiles.
He used 1164 tiles for one room ond 940 tiles for
onother room.
How mony tiles were left?

6. A foctory hos 2000 workers.
134O of them ore men.
The rest ore women.
How mony more men thon women ore there?

25



7. )im jogged 3 km 600 m.
Mory jogged 2 km 800 m.
Who jogged o longer distonce?
How much longer?

8. 4 people bought o birthdoy present for their friend.
They poid the coshier $100 ond received $48 chonge.
lf they shored the cost equolly, how much did eoch person
oov?

9. Cik Foridoh bought 8 pockets of biscuits for o po rty.
There were 12 biscuits in eqch oocket.
After the po rty, there were 28 biscuits left.
How mony biscuits were eoten ot the porty?

26



10. A poil filled with scnd weighs 5
The empty poil weighs 200 g.
Find the weight of the sond.

kg.

11. Copol is
He is 25
Find his

1 m 57 cm toll.
cm toller thon his brother.

brother's height.

12. The sum of two numbers is 240.
lf one number is twice the other number. find the numbers.

Smqller number

Bigger number

I ^.^
l'""

27



REVISION 6
1. Work out the onswers.

2. Colour eoch bcr to show the given froction'

1

4

2
4

1

b

2

2
6

3. Ring the greoter froction.
(Use tne iroction bors sbove to help you')

@)+,* ori'3 ar3,',
G)1,* r"ri,? arl,;

(o)
qnao

rb)
8T4:/'

(c)
2768

+ 3932

(d)
4720

- 1744

(e)
406

x9

(f)
384

x6

2A



5. Roy hos $85.
Somy hos 3 times
How much money

os much money os Roy.
does Somy hove?

6. Copol collected 48 postcords.
He collected 4 times os mony
How mony postcords did Roju

postcords os Rcju.
collect?

7. Mrs Li bought 1 kg of flour.
She used 45O g of it to boke o coke.
How much flour hod she left?



8. 8 pockets of onions ond some pototoes weigh 5 kg.
Eoch pocket of
Find the weight

onions weighs 450 g.
of the potctoes.

9. Suhuo bought 4 rolls of ribbon to moke'lO bows.
Each roll of ribbon cost $5.
(o) Find the totol cost of the 4 rolls of ribbon.
(b) Find the cost of the ribbon for moking 1 bow.

30



EXERCISE 36
1. Whot time is shown on eoch clock?

Motch the clocks to the correct onswers.

4.36

7.17

8.03

8.14

2.41

12.21

4.O2

11.52

r\ ". I

31



2. Whot time is it?

7.30 5.24

o,. ho lf post seven 24 minutes pcst 5

\

or

or

\''

"1i," ,\

or



EXERCISE 37
1. Complete the following.

(c)

:-t..:l-l.l r-; : t'..

p.m.

o.m.

o.m,

p.m.

o.m.

;\;

33



ffi
" 

.'.',,)

1 Complete the following.

(o)

(b)

(.)

(d)

p.m. p.m.

p.m.

p.m.

o.m.

o.m.

4

".//

34



EXERCISE 38
1. Motch.

th

ln 5u mtn

th 35min

tn 5u mrn

zn lu mrn

2h 15min

3h 30min

60 min 90 min

120 min 110 min

2h

130 min 95 min

135 min 210 min

35



2. the missing numbers.

th45min (b) 2h5min

Write

(o)

(d)

3.

min

min

min

mtn

4.

mtn = h min

min =

min =

mrn =

h-min

h-min

h-min
36

f -, ] t--. ]In z+5 mtn

\./
mtn

(c) 85 min

f-: :--l [: . l
bU mrn 15 mrn [--.id t o.r"l

h mrn h min

Write in

(o) th

(b) th

(c) 2h

(d) 3h

Write in

(o) 7s

(b) 100

(c) 140

(d) 22s

mtnutes.

5min=

30 min =

25 min =

10 min =

hou rs ond minutes.

t:; l f- .-_-l
I zn I smrn 

I

\./
mln

150 min



EXERCISE 39
1. A film show storted ot 7.30 p.m.

It losted t hour ond 45 minutes.
Whot time did the show end?

7.30 p.m.

th45min

2. Mr Wu storted fishing ot 4.40 p.m.
He cought the first fish ot 6.00 p.m.
How lonq did he toke to cotch the first fish?

4.4O p.m. 6.00 p.m.

3. A concert stqrted
Chengfo reoched
Whot time did he

ot 7.35 p.m.
the theotre 25 minutes before time.
reoch the theotre?

25 min

37



4. Mrs Hong orrived ot the oirport ot 7 .4O p.m.
The plone she wos toking did not leove until 9.00 p.m.
How long did she wqit ot the oirport?

5. Somod drove from home to the Science Centre.
He left home ot 7.35 o.m. ond orrived ot the Science Centre
45 minutes loter.
Whot time did he orrive ot the Science Centre?

6. Jomes took t hour ond 40 minutes to row his boct trom
Chongi to Pulou Ubin.
Ahmod took 2 hours ond 5 minutes.
How much longer did Ahmod toke thon Jomes?

38
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EXERCISE 40
1. (o) th25min+30min= h min

(b)

(d)

th45min+40min=

2h30min*50min=

2h35min+35min=

(b) t h 45 min + t h 25 min =

(c) 2h20min+ th50mrn=
/l\ - | ,^\u) zn 4umtn+ InJ5mtn=

\e,, Jn)umtn+ |n2umtn=

ff\ ?hl(mi^r1t-./tE^:\'/ J " z .+J t tn =

h_min

h-min

h_min

2. (o) t h50min+2h20min= n_min

n_min

n_min

h-min

h_min

h_min

,j-"\( 25 min +30 min =55 min )\.--.\------- t -2o"

39



5. (OJ In4)mln- lumrn= h min

(b)

(c)

(d)

2h40min-15min=

2h 5min-50min=

3h35min-40min=

3h45min-2h40min=

2h50min-1h35min=

3h15min-1h45min=

4h 5min-2h20min=

4h20min-1h25min=

h-min

h-min

h-min

a. @) 2 h30min-1h10min= h min

rhl

fr)

(d)

(f)

h min

h mrn

h min

h min

h mrn

2h30min -', th30min -'"""", Ih20min



EXERCISE 41

1. Work with your friends.
You need q stopwotch.
Meosure the time token for eoch
of the following octivities.

Activity Time token

Write the words
SINCAPORE. seconos

Wolk 10 poces. seconos

Drow 5 trio ng les. seconoS

Skip 15 times. seconos

Run 100 metres. seconos

41



2. The toble shows the time token bv 5 oirls to swim 50 metres.

Mory 59s

siti 55s

Aihuo 57s

Devi 54s

Su Iin 1 min

Study the toble ond fill in the blonks.

is the fostest swimmer.

is the slowest swimmer.

Siti is foster thon Mory by secono5.

3. Write the missing numbers.

(o)

(b)

(c)

(o)

(b)

1r)

(d)

'I minute - 40 seconds

1 minute - 34 seconds

1 minute - 15 seconds =

1 minute - 26 seconds =

5econos

seconds

seconds

seconds



EXERCISE 42
1. Motch.

1 min

l min 5s

l min 45s

2 min

2 min 25s

3 min

3min 35s

@



2. Write the missinq numbers.

(o) 1min40s (b) 2min10s

min

s=

seconos.

min-s

mtn_s

min-s
44

,/\
f; . ] f--;:-----lrmrn | 4us

\,/

,/\

D''*l l-10;-l
\./

,/\
60;l [4o'.]

\./

,/\

F2o 'l t-o;-l
\./

min s mtn s

3. Write in seconds.

(o) 1min25s=

(b) 2min45s=

(c) 2min50s=

(d) 3min30s=

4. Write in

(o) e0

(b) 11s

(c) 12s

utes ond

5

(c) 100 s (d) 150 s

5

(d) 200 s =



5. Fill in the blonks.

(o) 1min30s= s (b) 1min55s=-s

(c) 2min5s= s (d) 2min30s=-s

(e) 3min5s= s (f) 3min40s=-s

(S) 80s=-min s (h) 85s=-min s

(D 95s= min_s (D 110s=-min s

(k) 140s= min-s (l) 165s=-min s

How mony
Colour the

sides does o
spoces which

pentogon hove?
contoin the onswers to find out.

185 s

'I min 20 s
1min25s

1min65s

230 s
lmin50s

1min35s

ko''1 min 10s

'1 min 40 s

2min45s

45



EXERCISE

1. Motch.

1 yeor 1 month

1 yeor 6 months

2 yeors

1 yeor 8 months

2 yeors 6 months

3 yeors

2 yeors 2 months

18 months

13 months

30 months

24 months

20 months

26 months

36 months



-) Write the

(o)

(b)

missing numbers.

'I yeor

24 months

5 months

4 months

montns

months

months

montns

1 yeor 5 months

months

28 months

yeors months

3. Write in months.

(o) 1 yeor 3 months =

(b) 2 yeors 5 monlhs =

(c) 2 yeors 11 months =

(d) 3 yecrrs 10 months =

4. Write in yeors ond months.

(c) 15 months = 

- 

yeor _
(b) 25 months yeors _
(c) 32 months yeors _
(d) 40 months yeors _

months

month

months

months
4l



EXERCISE

1. Motch.



2. Write the missing numbers.

(o)

(b)

2 weeks 3 doys

2 weeks

35 doys

3 doys

doys

40 doys

.--'.-..-.-

5 doys

weeks doys

3. Write in doys.

(o) l week 5 doys =-doys
(b) 2 weeks 4 doys = 

- 

doys

(c) 3 weeks 3 doys = 

- 

doys

(d) 4 weeks 2 doys = 

- 

doys

4. Write in weeks ond doys.

(o) 12 doys = week 

- 

doys

(b) 25 doys = 

- 

weeks 

- 

doys

(c) 30 doys = 

- 

weeks 

- 

dcys

(d) 32 doys = 

- 

weeks 

- 

doys

49



REVISION 7
'1. Circle the greoter froction.

(") 3, +
k);,i

2. Fill in the blonks.
(o) At c zoo lhe liners cre fed ct 9.45 c.m.

The lions ore fed 40 minutes loter.

The lions ore fed ot

(b) A concert storted ot 1.20 p.m.
Alice ond her friends orrived ct the theotre ct 12.50 p.m.

They were minutes eorly.

3. Fill in the blonks.

(c) $2 =-x50c (b) SE - x10c

(c) $s0 x $s (d) $100 = 

- 

x $10

4. Fill in the blonks with the correct units.

kggmcmkm(ml

(o) Lily uses 2 of cloth to moke o dress.

(b) The copocity of o cup is 200

(c) Mcry used obout 500 

- 

of flour to boke o coke.

(d) Meili bought on oirpot which ccn hold 3 of
woter.

(e) The distonce from Aii's house to the Bird Pork is obout

(b) :, l
@:,;
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5. 10 groups of children visited on ice creom foctory one
Soturdoy.
There were 28 children in eoch group.
(o) How mony children were there oltogether?
(b) There were "136 girls.

How mony boys were there?

6. Siti hod $20.
She spent $1.60 on bus-fore ond $5.40 on lunch.
How much money hod she left?
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EXERCISE 45
1. Mork the ongles of eoch figure.

Then comolete the toble below.

Figure Number of sides Number of cngles

A

B

c

D

E

F



EXERCISE 46
1. Tick (/) the correct cnswer for ecch ongle.

Angle Smoller thqn
o right ongle

Bigger thon
o right ongle o right ongle

53



2. Eoch of the following triongles hos
Mork the right ongle.

o rig ht ongle.



3. Complete the toble below.

Figure Number of
sides

Number of
ongres

Number of
right ongles

A

B

c
D

E

F

c

H



EXERCISE 47
1. Whot is the oreo of eoch of the followins fioures?

Figure Areo

A squore units

B squo re units

squcre units

D squore units

E squore units

F squore untts



ib
57

2. Whot is the oreo of the followinq fiqures?

Figure Areo

A squore units

B squore units

c squore units

D squore units

E squore units

F squore units



EXERCISE 48
1.

r.'nl

Figure

Figure

Figure

Whot is the oreo of eoch

1cm

of the following figures?

nnd Finrrre hove

has the hionest n reo.

hos the smollest orec.

Figure Areo

A cm2

t' cm2

C cm2

D cm2

the some oreo.



2. Write the oreq of eoch figure.
Then drow onother fioure of the some oreo.

r..J
1cm
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EXERCISE 49
1. Whot is the oreo of eoch

(o)

1cm

of the following figures?

(b)
1cm

't a"'J

(d)

Areo =

Areo =

(f)

"'Jffiffiffi
Areo =

''lffi J.rffi
'".Jmm

(.)

1m

Areo =

lm

''1

Areo =
60

Areo =



EXERCISE 50
1. Meosure the perimeter of eoch of the following figures.

(o) (b)

Perimeter = Perimeter =

Perimeter = Perimeter =

Perimeter = Perimeter =



2. The following figures ore mode up of 1-cm squores.
(o) Find the oreo ond the perimeter of eoch figure.

(b) Figure ond Figure hove the some greo

but different perimeters.

(c) Figure ond Figure hove the some
perimeter but different oreos.

(d) Figure ond Figure hove the some oreo

ond perimeter.

ffi

Figure B c D E F

Areo cm2 cm2 cm2 cm2 cm2 cm2

Perimeter cm cm cm cm cm cm
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3. Find the perimeter of eoch of the following figures:

(o)

5cm

6cm

2cm

Perimeter =

6cm

9cm

'10 cm

4cm

(b)

4cm

Perimeter =

Perimeter =

Perimeter =



EXERCISE 51

1. Write down the length ond breodth of eoch rectongle.
Then multiply the length ond breodth to find the oreo of
the rectqnole.

1cm

Rectongle Length Breodth Areo

A 4cm 2. r.m I cmr

B

a

D

E



2. Find the oreo of eoch rectongle by multiplying its length
ond breodth.

Rectongle Length Breodth Areo

A ai;l -:, r
,.1

B

D

E
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EXERCISE 52
1. Find the oreo of eoch

(o)

rectongle.

2cmto'WW,."
8cm

Rectongle B D E F

Areo I L Ct1l'



2. ffi 2m

4m

(o) Complete the following toble.

Rectongle hos the smollest oreo.

Rectongle hos the longest perimeter.

Rectongle ond Rectongle hove the
some oreo.

t'o\ Partnnal- dhl ^-,,- Kecrongte _ nove tne
some perimeter.

5m

ffi

(b)

(d)

ztm

2m

Rectongle Areo Perimeter

B

L

D

E
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REVISION 8
1. Complete the number potterns.

(o) 8,16,24,

(b) eo,81,72, _, 36

(c) 115, 135. 1ss, - .235

(d) 2s34,2334,2134, _, 1334

2. The bcr groph shows the number of different types of flowers
sold by o florist on o Sundoy.

56

Roses

Lilies

Do isies

O rch ids

Cornotions

30 40 50

Number of stolks

Study the groph cnd fill in the blonks.

(o) The florist sold stolks of cornotions.

(b) The number of stolks of roses sold wos 

- 

more
thon the number of stolks of doisies sold.

(c) He sold stolks of flowers oltogether.

6B



3. Fill in the blonks.

(o) Meihuo storted pointing o picture ot 2.15 p.m.
She completed the picture ot 6.05 p.m.

She took h 

- 

min to point the picture.

(b) 

- 

is 45 minutes before 12.20 p.m.

4. Find the oreo

(o)

ond the perimeter of eoch figure.

(b)

5.

Areo =

Perimeter =

Find the perimeter

(o)

of eoch figure.

(b)

Areo =

Perimeter =

1cm 1m

4m

12m

Perimeter =
69

Perimeter =



REVISION 9
Whot does

(o) s443

1.

2.

the digit 5 stcnd for in

(b)

eoch number?

1652

10

12

3. in its

(b)

srmptest Torm.

9 ,.
12

t_l 
]

Write the missing numerotors ond

(o) 2= rb) 6=3
' ' 3 9 ' ', 10

Write eoch froction

(o) 9=.',10

Write the froctions

r^r523
ooo

,,, 4 2 7

"939

331tal
'.-' 8' 4' 2

4.

5. Fill in the blonks.

(o) lf A stc nds for 5 people,

AAAAAAstondfor people.

(b) lf n n n n stond for 40 books,

eoch n stonds for books.

12

in order, beginning with the smollest.

|r-
-l

denominotors.

(c)

6_

/o



Fill in the blonks.

6. The rectongle cnd the squore
Find their oreos.

have the some perimeter.

3m

(o)

(b)

The

The

5m

oreo of the

oreo of the

recro ng re

squore is

ts

6 <250mI = C-

Angle 
- 

is o right ongle.

ml

7,?\ \-/

9. 1km900m

Meili's house Libro ry School

2km750m

The distance from Meili's house to the librory is
71



10. A notebook
A pen costs
Whot is the

costs 45C.
8 times os much
cost of the pen?

os the notebook.

'11. Minghuo took 20 minutes to wolk from his house to school.
He reoched school ot 7.10 o.m.
When did he leove his house?

12. There ore 8
one box.
How mony

biscu its ond

ore there in

6 coconut biscuits in

5 boxes?

peonut

biscuits

/2
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